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OAtg E2H| 1,675,000 1,675
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Al 1,595
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101 @124l 10,200 10,200 0
Al 5,100
- 5,100
04 JIZHHZ2Z2XNSE =+ 10,200 10,200 0
OZXEHAX & 10,200, 000& 10,200
Al 5,100
T 5,100
201 Let24E] 20,000 20,000 0
Al 10,000
T 10,000
01 At 22l 15,000 20,000 25,000
OMEAXNIANY 22 +& 10,000,000 10,000
Al 5,000
- 5,000
OE2R+=f2c4d & 24 5,000,000 5,000
Al 2,500
T 2,500
03 A2 I 5,000 0 5,000
OSUEAXNEANY 28 & 2 5,000,000 5,000
Al 2,500
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= 90,800
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O0l=0t2 Lol &0t 28 XI&
106,000, 000& 106,000
= 53,000
Al 26,500
T 26,500
O ELEHAOI &2 At H0t 2t 2l HI KT &
60,000, 000& 60,000
= 30,000
Al 15,000
T 15,000
O MOtE 2t E H A XI & 15,080,000 15,080
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05 BIZHRIE 3 520 520 0
OAIMOIHE ZD| XA I 2 & 520,000& 520
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A2ST R0 S2H X2 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
01 2272l 2,000 2,000 0
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A2 2e X 20,689 17,000 3,689
201 Let2d] 17,000 17,000 0
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o888 ¥ X278 2% & s
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T 49,900
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= 1,000
Al 500
- 500
307 gizto| A 6,000 6,000 0
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O AHUXEEE XS H XA 182, 160,000 182,160
= 91,080
Al 45,540
- 45,540
MO M ED] LHAH2RIC 6,340 6,416 ANT6
= 5,070
Al 635
- 635
201 et d| 277 270 7




2N
X ZH -
L= B

el

=]

4y
EYER
= 0z
=
0

Ol mior A
FE

10
fu oy
>0
F Pl

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 221
Al 28
T 28
01 At &t 2| bl 277 270 7
Ol A2 A HS 2| 277,000 277
= 221
Al 28
- 28
307 gl2tol & 6,063 6,146 A 83
= 4,849
Al 607
- 607
01 2=zL A=l 313 464 A 151
QMBI (HIFHEHLH )AL HEHI
313,000 313
= 249
Al 32
T 32
05 RIZHRI & 3 5,750 5,682 68
OO & &0 242 & 5,750,000& 5,750
= 4,600
Al 575
- 575
S0 ==X LotAAZEAS 30,310 33,768 A 3,458
= 24,248
Al 3,031
- 3,031
307 21201 A 30,310 33,768 A 3,458
= 24,248
Al 3,031
T 3,031
05 RIZt2IEt = 30,310 33,768 A 3,458
O2z2s0 ==SAX LetAZAHA
30,310,000& 30,310
= 24,248
Al 3,031
- 3,031
FAaEs Xl OH 22| 1,802,118 1,725,306 76,812
= 300,720
Al 982,126
- 519,272
FAUBAHH 29 160,000 152,600 7,400
= 80,000
Al 40,000
T 40,000
307 2I2t0l A 160,000 152,600 7,400
= 80,000
Al 40,000




2N
X ZH -
L= B

el

AYSHY
FoIME AASH X
Hume o xg2e

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
- 40,000
05 QIZtRES 160,000 152,600 7,400
OBABAHAAIE 2 H| 160,000,000 160,000
2 80,000
Al 40,000
- 40,000
OlsSaEAYE EABEHAAY 50,000 53,742 N3,742
2 25,000
Al 12,500
- 12,500
307 2Iz2t0| A 50,000 53,742 N3,742
= 25,000
Al 12,500
- 12,500
05 QIZtR &2 50,000 53,742 N3, 742
O0lsSEHAEFAMBAHAISHI 50,000,000 50,000
= 25,000
Al 12,500
- 12,500
HABAHAIE SAA EH4=H 38,400 42,600 N4 ,200
Al 38,400
307 212+0 & 38,400 42,600 A 4,200
Al 38,400
05 QIZtR E 2 38,400 42,600 A4 ,200
OSAMAEASE 38,400,000& 38,400
Al 38,400
A2 XOHAFY KA KIS 17,298 5,570 11,728
201 et d| 1,820 2,170 A 350
01 AP 2t 2] H| 1,820 2,170 A 350
OJI=HAMBAHAMO A =
L0002 *6H %23 840
Ot & A AXA AR =Gt
L0002 * 72 %23 980
203 AR EF Y| 400 400 0
03 Al ZH =X R = XIH| 400 400 0
OFAXHAIE L 2F=A 400,000& 400
307 212t0| & 15,078 3,000 12,078
01 s =l 3,000 3,000 0
OBANBAHAANYEEBXZAE Q! 3,000,000& 3,000
05 QIZtRE S 12,078 0 12,078
OXMHESHEH 3L 12,078
o0 Sairen X Q4| 1,628,000 1,628
o Sl EZFEIXID|(Sairen) 7,920,000 14!l 7,920
o AJI0I&Hl E DJIEH 2,530,000 x14l 2,530




AN A2SE D
M JoME AYSE X
chelr MAEE - xne CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
QdISHEHH 29 135,100 135,100 0
= 67,550
Al 67,550
307 glz2tol & 135,100 135,100 0
2 67,550
Al 67,550
05 RIZteE = 135,100 135,100 0
OLISUEHH2Y 135,100, 000& 135,100
= 67,550
Al 67,550
=Xt & LIRSESSA At 2el 100,000 100,000 0
2 50,000
Al 50,000
307 21201 A 100,000 100,000 0
= 50,000
Al 50,000
05 RIZt2lEt = 100,000 100,000 0
OL=XE LIASSST Ml 22 AISH
100,000,000 100,000
= 50,000
Al 50,000
JNHAEHH2Y 5,000 5,000 0
Al 2,500
- 2,500
201 et2 Y| 5,000 5,000 0
Al 2,500
T 2,500
01 At 22l 5,000 5,000 0
OXH& S LE2 S| 5,000
o XA EARIASS LI 1,000, 000& 1,000
Al 500
T 500
o XIHEE=HMH 4,000,000 4,000
Al 2,000
- 2,000
XNOWESHEH 29 440,314 413,000 27,314
Al 220,157
- 220,157
307 21201 A 440,314 413,000 27,314
Al 220,157
- 220,157
05 BIZHRI & 3 440,314 413,000 27,314
OXIOH & & 2 Z 440,314,000 440,314
Al 220,157
T 220,157
IS, ASAIISAHANE 2 332,202 362,370 A 30,168




AN A2SE D
M JoME AYSE X
chelr MAEE - xne CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 332,202
307 21201 A 332,202 362,370 A 30,168
Al 332,202
05 RIZIRI & 3 332,202 362,370 A 30,168
OAMA=SAHANE 2| 332,202
o ¥ISAS=ZAH0IEAIE2EHI
181,236, 000& 181,236
Al 181,236
0 ADSABZAFHALSGY]
150,966,000 150,966
Al 150,966
XX 228X & 126,340 81,324 45,016
= 63,170
Al 31,585
- 31,585
307 21201 A 126,340 81,324 45,016
= 63,170
Al 31,585
- 31,585
05 BIZERIE 3 126,340 81,324 45,016
OXIHXIZ24l K& 126,340,000 126,340
2 63,170
Al 31,585
T 31,585
XS dH2F 359,464 324,000 35,464
Al 179,732
T 179,732
307 glz2tol & 359,464 324,000 35,464
Al 179,732
- 179,732
05 RIZIRI &t 3 359,464 324,000 35,464
OXIOHS & 2el At bl 359,464,000 359,464
Al 179,732
- 179,732
A&t ol 2 AL 30,000 50,000 220,000
= 15,000
Al 7,500
- 7,500
307 21201 A 30,000 50,000 A20,000
= 15,000
Al 7,500
- 7,500
05 RIZtI & 3 30,000 50,000 220,000
OFAME AL XA 30,000,000& 30,000
= 15,000
Al 7,500
T 7,500




M A2 S
HE: PoIME AASH X
Helr dAZE x| OH 22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A& ol Are X HX& 8,000 0 8,000
307 glz2tol & 8,000 0 8,000
05 RIZHRI &t 3 8,000 0 8,000
Ooxtauess g4 HME 4,000,000 1A 4,000
OXa0eg =217 £X
4,000,000 =14 4,000
yHeAAH (ALSTY) 78,447 67,503 10,944
2 7,750
T 70,697
AFHIH (A X ST ) 42,581 27,618 14,963
2 7,750
T 34,831
olA2YYl MRAIS (HZSX ) 42,581 27,618 14,963
= 7,750
= 34,831
101 124 dl 42,581 27,618 14,963
= 7,750
T 34,831
02 JIEtE B = 15,500 0 15,500
OS3HNEHEQLA(AZHALE Ot 1H)
15,500, 000& 15,500
2 7,750
T 7,750
03 RIAHAZZ2THE = 27,081 27,618 A 537
OasaAH (2L Y, 658) 27,081
oJlE=za 1,162, 700& x1H x12& 13,953
o &= 348,810& x1Hx123 4,186
o JtAIXI& 29,0603 «1H 128 349
o ZU2RE 7,967 *15A1 2t 1H « 123 1,435
o AXtRaE=+g 63,7403 «1H 20 1,275
o =4l 130,000 x1H »12& 1,560
o w&Hl 120,000 x1H 122 1,440
o BEFOtHI 581,350& 1 »23] 1,163
o M= AtHI 20,0003 x 1 +23] 40
o =% 140,000 x1H 128 1,680
Jl2dd(Adzsd ) 35,866 39,885 A4,019
Jl2dtl MEAY(HLSE ) 35,866 39,885 A4,019
201 £B-2d| 18,546 19,705 A1,159
01 At 22l 18,546 19,705 A 1,159
O el 54,590 16 x 128 10,482
Ozl 7,0003 « 16«64«12 8,064
202 O4dl 12,480 11,520 960
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